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Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
(-1 weif Aears Tea mie ¢

a) Distinguish between cardinal and ordinal

utility.
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b)  When does an economic problem arise?
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c) What happens to average cost when output

increases in the short-run?
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What is indifference map?
feacoms e e
Define consumer’s surplus.
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What are the determinants of supply of goods

and services?
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Why elasticity of demand is different from

slope of the demand curve?
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What is the sign of cross-price elasticity when

two goods are perfect substitute? Give reasons.
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What is law of constant returns?
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Why the LAC curve falls as output expands?
Tt Jfaa A2 A LAC @4l w2 28 &2
Define budget line.
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Identify the situation where equilibrium
market price will reach the maximum with the

change in both demand and supply.
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m) Define consumer good.
IRISIE RN
n)  What is excess supply?
wifsfae @i 52
o)  What is market economy?
e wigfife &2
2. Answer any four questions: 5x4=20
@I BIATH &eas Ted 7l 8
a)  Why a demand curve is downward sloping?
pifewl crl frs2 = e e
b)  Why isaverage variable cost curve ‘U’- shaped?
NG FAfTSTN A U’- SFeF 27 (Fe 2
c) Explain diagrammatically how would you
derive consumer’s demand curve from the
marginal utility curve.
Afes Torifoel @2l (A IO (@FoF bifewl
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Explain the relationship between short-run
average cost and short-run marginal cost with

the help of a diagram.
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Show that two linear demand curves having the
same price intercept and different slopes will

have the same price elasticity at a given price.
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Show that the slope of a budget line is equal
to the negative of the ratio of two commodity

prices.
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Answer any two questions: 10x2=20
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Discuss the properties of an indifference

curve.
s @R el SicEna 9|

How would you measure point elasticity on a

linear demand curve? Explain with a diagram.
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Graphically examine the relationship among
TP, AP and MP of a factor.
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Given the iso-product curve of a firm and the
prices of two inputs it used, find the condition
that the firm must fulfil to produce —
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i)  a given output at the minimum possible

cost;
TR I [S sifasie Tesiva;
i1)  the maximum output at a given total cost.
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